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STUDY ON CHARACTERISTICS OF RIVER-ASCENDING TSUNAMI
TRANSMITTING ON THE SLUICE GATE

Hiroyasu YASUDA and Koji FUJIMA

When the tsunami ascend the river, it may cause the various disasters along the river, thus many river have
equipped the sluice gate for prevention of ascending tsunami. If the sluice gate can not close completely,
the tsunami can transmit on upper side of the gate. In this paper, laboratory experiments were conducted
to investigate the characteristics of the transmitted tsunami on the sluice gate. The experimental results
are showed that the wave height of transmitted tsunami is governed by the opening height of the gate,
is not mostly influenced by discharge. In case of opening height is low, the strong eddy loss or hydlaulic
jump generate on the part of out flow from the gate, and there eddies cause to considerably decrease the

wave height of the transmitted tsunami.



